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Answer all questions.

All questions carry equal marks,

Only one answer is to be given for each question.

If mare than one answers are marked, it would be treared as
WTONZ answer,

5. Each question has four alternative responses marked scrially
as 1. 2, 3. 4. You have 1o darken only one circle or bubble
indicating the carrect answer on the Answer Sheet using BLUE
BALL POINT PEN, ' :

6. The OMR Answer Sheet is inside this Test Booklet. When you
are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue bail point
pen only, ~

7. 143 part of the mark(s) of each question will be

deducted for cach wrong answer. A wrong answer means

an incorrect answer or more than one answers for any
question. Leaving atl the relevant circles or bubbles of any
question blank will not be considered as wrong answer,

Paper Booklet and Answer Sheet must be same after opering
the envelops. In case they are different, a candidate must
ebtain another question paper of the same series. Candidate
himself shatl be responsible for ensuring this.

9. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable matenal with |‘|l!TU']ll.'.‘l' will be strictly
dealr as per rules,

10. Please correctly fill your Roll Number in O.M.R. Sheet.
5 marks will he deducted for filling wrong or mccmplele Roll

- Number,

I'1. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Version of the
question. the English Version will be treated as standard.

Warning : If a candidate is found copving or if anv unauthorized

material is found in hisiher possession, LR wold be fodzed

against himder in the Police Station ond hesshe would fiable 1o

be prosccuted Department iy also debar himer permaneiily

Srom all finive examinations,
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1.  Which of the following statement is true 7
(1) It is compulsory to have a partnership agreement in writing.
(2) Interest on drawings is always calculated on the total drawings for full year.
(3) The business of the firm can be operated by any one partner.
(4) Current accounts of partners are maintained under the fluctuating capital method.

2.  Shares of a company are forfeited if
(1) Application money is unpaid. -

(2) Allotment money is unpaid.
(3) Call money is unpaid.
(4) Allotment money or call money or both are unpaid.

3.  The shares allotted to existing equity .shareholders without any consideration being
received from them, is called : o ' '
(1) Right shares o (2) Bonus shares
(3) Right and Bonus shares (4) None of the above

4. Q Ltd. forfeited 360 equity shares of T 100 each issued at a discount of 6% for non-
payment of allotment money of ¥ 50 per share. First and final call on these shares at ¥ 20

per share was not made. The forfeited shares were re-issued @ T 90 per share as fully

paid. What amount will be transferred to capital reserve account after re-issue ?
(1) Z8640 - 2) TT200 :
(3) 5040 (4) T 6480

5, After the redemption of debenture, ~‘Debenture Redemption Reserve Account’ is
' transferred to :

(1) Capital Reserve Account - (2) Profit& Loss Account
(3) General Reserve Account (4) None of the above

6.  Which of the following is not advantage of ‘Computerized Accounting SyStem’ ?
(1) Accuracy (2) Storage and Retrieval
(3) Quality Report (4) Staff opposition -

7.  If the value of mean (X)=5and mode (Z) =5, the value of median will be :
)y 5 2y 10 ' '
3) 15 . (4) 20

8. The marks obtained by students in the subject at an examination follow the normal
distribution with mean 80 and standard deviation 20. If the marks of a student who
appeared at the examination are 96 find the standard score (or Z-score) of the student.

(1) 0.6 2y 0.7
3) 05 (4y 08
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9. Mean deviation is equal to

(1) 5/6 Standard Deviation : {(2) 2/3 Standard Deviation
(3) . 4/5 Standard Deviation (4) 3/4 Standard Deviation

10. Which is the best average used in the construction of index numbers ?
{1} Median (2)  Arithmatic mean
(3) Harmonic mean (4) Geometric mean

11. Which is not included in financial statements ? -
(1) Profit and Loss Account (2) Balance Sheet
(3) Notes to Accounts (4) Director’s Report

12. Revised schedule III of Indian Companies Act, 2013 for ﬁnéncial_statements is applicable

' from : : _ o ' '

(1) Aprl 11,2010 ' (2) April 1, 2011
(3) April'l, 2012 (4) Apnll, 2014

13. Which financial analysis technique is also known as 100 percent statement techmque’ ?
(1) . Commparative Financial Statement Technique
(2) Common size Financial Statement Technique
{(3) Ratio Analysis Technique '
(4) . Trend Analysis Technique

14. Which technique is not financial analysis technique ?
(1) Break-even Analysis (2) Cash flow Analysis
(3) Fund flow Analysis (4} None of the above

~15.  Which of the following included in types of financial analysis ?

(1) Dynamic Analysis _ (2) Static Analysis
(3) External and Internal Analysis (4) All of the above

16. Cash flow statement is
(1) Statement of only cash inflows
(2) Statement of only cash outflows
(3) Statement of only cash inflows and outflows
(4) Statement of not only cash but also cash equivalents inflows and outflows
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17.  Which of the following investment is not included in cash equivalents ?
' (1) Treasury Bills _ {2) Deposit Certificate
(3) Commercial Paper (4) None of the above
18. X Ltd had the following balances :
Investment at the end 0of 2012 ¥ 34,000
Investment at the end 0f 2013 ¥ 28,000
During the year company had sold 40% of its original investment at a profit-of T 8400.
Amount of uses of cash will be : _ .
(1) 6,000 : 2y 8,000
(3) 16,000 4 22,000
19.  The average annual consumption of a material is 18250 units at a price of ¥ 36.50 per unit.
The storage cost is 20% on an average inventory and the cost of placing an order is ¥ 50.
Economic order quantity to be purchased at a time'is : - ' '
(1) 5000 units . _ (2) . 500 units
(3) 1000 units : (4) 800 units
20. The standard time for producing a job is 40 hours. The rate of wages is ¥ 2.00 per hour.
- The actual time taken to produce tlfe job is 30 hours. Effective wage rate per hour under
Halsey Scheme willbe: _ - -
(1) %333 | T @ %433
3y 233 . . & T200
21. The cost of manufacturing 200 units of an article is 21600, When 400 units of the same
' article are produced, the cost incurred is Z 2000. The fixed cost will be :
(1) T 800 ' " (2) T400
3) ¥ 1,200 : . 4 T 600
22. Which of the following expensesis not included in cost ?
(1) Bad Debts wom e (2) 0 Cost of free samples
(3) InterestonLoan _ (4) Office Charges
23. Meaning of Audit is
(1) to examine books and accounts _
(2)  to enter different transactions in books and accounts
- (3) Both(1)and (2)
 (4) None of the above |
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24, Out of the following which is not true ?
(1) Special audit of any company is conducted by Central Goverment.
(2) If an auditor is terminated before time. he is entitled to get his remuneratinn for the
whole period.

(3) Company auditor is appointed under section 224 of the Indian Compames Act, 1956.
(4)  An auditor can not file suit for his remuneratton '

25. Which is not mathematical average 7 :
(1) Median (2) Arithmetic mean
(3) Geometric mean (4) Hammonic mean.

26. Appointing authority of the company auditor is :

" (1) Board of Directors of the company (2)  Shareholders of the company -

(3) Central Govemment ' (4) All of the above

27 * “The Auditor is a watch dog and not a blood hound.” The case in which the above
decisiott is given ?
(_1) London and General Bank Ltd. case _
@) Lwerpool & Wagon supply association Ltd. case
(3) ngston cotton mills case
(4) London oil sto;age 0. v/s Seear Hasluk & co. case

28. The probablhty of a cricket team winning match at Mumba1 is 2/5 and losing match at
Agra is 1/7. The probabllaty of the team winning atleast one match will be :
_ 32 12 :
M 35 @ 5

3 26

3 335 - @ 35

29. A project costs ¥ 15,000 and has a scrap value of ¥ 3,000. Its effect of incorhe ‘before
depreciation and taxes during five years is ¥ 3,000, T 3600, T 4200, ¥ 4800 and ¥ 6,000
Assumiiig tax rate-at 50% and depreciation on “straight line basis”. The average rate of
return for the project will be : . _
(1) 21.33% _ 2y 1067%
(3)  18.82% @) 941%
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30.

National Rural Employment Guarantee Scheme was started in :

(1) Lighth Five Year Plan (2) Ninth Five Year Plan
{3) Tenth Five Year Plan (4) Eleventh Five Year Plan
31. ‘Which of the following options is main cause of poverty ?
' {1} Under development (2) Economic disparity
(3) Population explosion (4)  All of the above
32. Absolute poverty is the study of -
(1) one person (2) one society
(3) one family (4) Al of the above
33.  For which term Central Co-_operative Banks provide Agricultural Credit ?
(1) Only short term ~ (2) Onlylong term
(3)  Short term and L‘ong_term (4) Short term and Medium term
34. Alternative farming is required when there is
(1) increase in disparity (2) increase in regional disparity
(3) lack of Institutional changes - (4) All of the aboye
35. Characteristics of Co-Operatioﬁ is
(1)  Voluntary organisation (2) Socialist system
(3) Capitalist system (4) None of the above
36. For which term Land Development Bank provides loan ?
(1) Short term (2) Medium term
(3) Longterm ~ (4) All of the above
37. Political significance in Rural Development is
(1)  Social justice and security (2} Abolition of Casteism
(3) Population control ' {4) Decentralisation of power
38.  Which is the Institutional source of rural credit in India ?
(1) Co-operative Bank (2) Land holders
(3) Traders (4) None of the above
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39.  Working population is consist of '
(1) Age group of 15-60 years’ (2)  Age group of 15-30 years’
(3) Age group of [5-40 years® - (4)  None of the above
40. Employment Assurance Scheme was started from -
(1) September 1992 (2 December 1995
(3)  October 1993 | (4) - April 1999
41. Employment is related to . .
(1) Working population
(2)  Unemployment
(3)  Working population and Unemployment
_ (4) . None of the above
42. Food security scheme for senior citizens is
(I) Annpurma (2)  Antyoday Ann scheme
(3) Food Security Act (4) None of the above
43. New Economic Reform was started in India from :
1)y 1992 | (2) 1991
3) 1995 ' (4) 1993
44.  Which of the following is Negatjve Implications of Globalization on business ?
(1) Expansion of miarket - .-~ :
(2}  Free determination of production capacity
(3) - Removal of protections -
(4) Technical development
45. Features of privatization include : -
(1) Work efficiency
(2) Economic democracy
- (3) Private sector in place of public sector .
(4) All of the above
46.  Objective of privatization js
(1)  Rapid Industrial Development
(2) Industrial Peace
(3) To develop competitive efficiency in the industries
(4) All of the above o :
47. Finance Commission js constituted by
- (1) Finance Minister (2)  President
(3} Vice-President - (4) Prime Minister
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48.  Which is not included in the techniques of monetary policy analysis 7
(1) RepoRate . (2) Investment in Govt. securities -
(3) Cash Reserve Ratio (4) Public debts
49. The Reserve Bank of India was established in !
(1) April 1949 ' (2) January 1949 ]
(3) April 1935 (4) January 1935 )
50. Fiscal Deficit can be known through ,a
(1)  Total Expenditure — Total Revenue !
(2) Total Expenditure + Total Revenue _ . |fI
(3) Total Expenditure ~ Revenue Receipts — Recovery of loans — other receipts
{(4) None of the above _
51.  Which of the following is not the characteristic of Indian Economy ? ';
(1) Industrial Backwardness : : h'
(2) IDliteracy i
(3) Political Instability i
(4) High technology and high standard of living. j
52.  Measurement of development of Indian Economy is ‘
(1) increasing food production
(2) increasing industrial production I
(3) increasing per capita actual income ;
(4)  decreasing unemployment h
53. Factor affecting economic environment is :|
(1) Natural resources (2) Economic policies o
(3) Capital formation {(4) All ofthe aboye "
54. IDA, IFC Institutes are related to ::;.
(1) IMF (2) IBRD f
(3) UN.O ' 4 W.T.O.
55. Indian Trade Policy is i‘el_ated to
(1) increasing export (2) import substitution
(3) increasing import - (4)  import substitution and increasing export
56. In which year Tandon Committee was constituted for export promotion ?
(1 1977 (2) 1981
(3) 1957 © @) 1991
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57.

58.

59.

60.

61,

62.

63.

Head Office of EXIM Bank is situated in

(I) NNP at Factor Cost )
(3) GDP at Factor Cost )

Savings + Consumption is equal to
(1) National Income 2)
(3) Expenditurable Income 4)

New Delhi
Chennai

D’Suza Committee
All of the above

Import
None of these

Indian Statistical Institute
Finance Ministry

(1)  Mumbai : (2)
(3) Kolkata (4)
Which of the following includes in Export Enquiry Committees ¢
(1) Gorwala Enquiry Committee (2)
(3) Mudaliar Committee (4)
‘Served from India’ Plan is related to

(1) Export (2)
(3)  Export-Import : (4)
In India National Income is calculated by

(1)  Planning Commission (2)
(3). Central Statistical Organisation  (4)
National Income means

GDP at Market Price
NDP at Market Price

Pefsonal Income
Per Capita Income

Which of the following model is related to PERT and CPM ?

(1)  Physical Models (2) Analog Models

(3) Symbolic Models 4 None of these
64. Analog Models are used for

(1)  Economics ' (2) Physics

(3) Botany : (4) All of the above
65. Economic Model means

(1) Economic Principle ' (2) Mathematical Explanation
(3) Logical Statement (4)  All of the above
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66. Which of the following is not commercial instrument of economic policy ?
(1) Freetrade (2) Restricted trade
(3) World Trade Organization- (4) Economic Subsidies
67. Components of Economic policy consist of
(1) -Price policy : (2) Wage policy
(3) Monetary Policy ' (4) All of the above
68. Foreign Trade Pol1cy, 2009-14 was announced on
-~ (1) 27" August, 2009 - 2) 16" August 2009
(3) 25" August, 2009 _. (4)  None of the above
69. Which one of the followmg is not a feature of sole proprietorship business.?
(1)  Undivided Risk (2) Lack of Government regulation
(3) Separate.entlty of firm 4) Unlimited liability
70. Partner who becomes a partner in the firm by agreement, invests capital but never takes
~ active part in the conduct of business of the firm is called :
L (1) Nominal partner (2) Sub-partner
; (3) Dormant partner (4)  Partner by estoppel
- 71.  Maximum number of partners in case of banking business is
N (1 20 . | (2) 10
| (3) 50 | @) 15
|
‘ 72.  Which among the followmg document defines the relationship between a company and
‘ outsiders ? _ _
; (1) Memorandum of Association (2) Articles of Association
(3) Prospectus . (4) None of the above
| | - -
'} 73.  The gap between two general meetings should not be more than
; (1) 12 months : (2) 18 months
| (3) 15 months (4) 20 months
| 74. “Managcment is the art of gettmg thmgs done through people.” These are the words of
(1) Mary Parker Follett _ - . (2) Harold Koontz
(3) Stanley Vance _ _ (4) Prof. Clough
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75. Technigues of managerial control are useful in
(1} selection of plant location
(2) identifying appropriate technology
(3) conducting shareholders meeting
(4) compare actual performance with standards
76.  Which one of the following is not a principle given by Henri F ayol ?
(1) - Division of Labour (2) Time Management -
(3) Scalar Chain - - (4) Unity of Command
71. WhICh one of the following pair is not correctly matched 7
(1) Scientific Management School ~ F.W. Taylor
(2) Process School — Henri Fayol _
(3) Social Technical System School — E.L. Trist
(4) Human Behaviour School - Urwick
78. In capital market main capital supplier is
(1) Commercial Banks - (2) Insurance Companies
(3) Business Corporations (4) Allofthe above
79. Feature of secondary market is :
{1) No creation of liquidity - (2) No particular place
(3)  Low transaction cost - (4) None of the above
80. New Issue Market is |
(1) Primary Market (2) Secondary market.
(3) Technology Market -~ {4) Both(l)and (2)
81. -Which of the following element is not a part of 4 P°s of marketing mix ?
M Price (2) Packaging
(3) Product : (4) Place
82. The concept of marketing which holds the organisations task to determine the needs, i'
wants and interests of target markets, to deliver the desired satisfaction to consumers and '
society’s well being.
(1)  Social Marketing Concept , (2) Sales Concept
(3) Product Concept (4) Production Concept
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“Marketing is the delivery of standard of .living to society.” These words are given by

- 83.
(1) Philip Kotler (2) Paul Mazur
(3) William J. Stanton (4) Hanson
84. Marketing is important because of
(1) Distribution on minimum cost (2) - Fulfilment of social obligation
(3) Availability of new products (4) Al of the above
.85. Contract is related to - _
(1) Sec.2(b) - : (2) Sec.2(g)
(3) Sec.2(h) (4) Sec.2(e)
86. If Contract is influenced by fraud the Contract will be
(1) Valid o . (2) Void
(3) Voidable : (4) lllegal
87. Effect of Wagering agreement is
(1) Valid (2) Void
(3) Voidable ' (4) Unenforceable
88. Which one of the following is a method of discharge of contract ?
(1) Discharge by performance (2) Mutual Agreement
(3) By operation of Law (4) All of the above
89. Consumer Protection Act came into force in
(1) April 1987 - (2) March 1986
(3) September 2001 4 September 2000
90. Number of members in Consumer Protection Council is
(Iy 125 (2) 150
(3) 101 _ 4 100
91. What is the maximum term of office of a member of the State Commission ?
(1), 2 years ' (2) 5 years
(3) 4 years (4) 1 year
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92.

93.

94.

95,

96.

97.

98.

Planning function of management is performed by

(1} Top management (2) Middle management

(3) Lower management (4)  All of the above

Grapevine is a term used in relation to
(1) Formal Organisation (2) Informal Organisation

- (3) Matrix Organisation - (4) Committee Organisation

Which one of the following is not a component of Direction ?
(1) Supervision (2) Communication
(3) Leadership (4) Forecasting

Appropriate management control technique for timely completion of a project is
(1) Management by objectives (2)° Management by exception
(3) Spanofcontrol (4) PERT

“The position of a Company Secretary is like that of a hub in a bicycle wheel.” This
statement is _

(1) Justice Charlesworth " (2) Prof. Bucknull -

(3) Justice James (4 W.R. Spriegal

Which of the following is a professional quality of a Compaliy Secretary ?
(I} Good personality (2) Sharp memory
(3) Knowledge of Company Law (4) Honesty

The Secretary of a Company is appointed by - : L

l(l) Promoters : - {2) Directors

(3) Articles (4 All ofthe above

99. The process of studying and collecting information relating to the operations and . \!
responsibilities of a specific job is : i
(1) Job Description : (2) - Job Specification i
(3) Job Analysis {(4) Job Performance !
' SPACE FOR ROUGH WQRK
Series-A 25 11

1

o i Bebibb R . i ik



L .

i S AR ..

100. Frefefed FER Sarea B -
() WRHE (i) o oI e
Giiy s (iv) AT ;
(1)  ii), (v), (@), (i) @) @ii), Gi), () (V)
3y (), i), Gii), (v) (4) (i), (v), (i), ()

101._Wuﬁsmﬁﬁ=rmwaa@qaﬁm%? - i
(1) VR WERhR @ afesedn TR
(3) WA _ (4) R R

= 102. e 3 TR AT & W e | 3
(1) R T @) TS !
@) e fered . (4) IR G el

103, fore e ) 9w Wy
(1) i & @ 3T @) el @ | |
(3) TEFE H T (4) SURTeR @ ;

g

104. %ﬁm@wmaﬁw%mmaﬁmmmi *
(1) Toreig s (2)  STRH T B For
(3) STRA S LT T ) mﬁﬁ_rﬁsﬁw

105.@%@@?@@%@@%%%%
(1) Tomws wEE | @) EEE '-;:_
() i g (4) TEEEA

{06, fpefitiae & faam viw =t # Wt §
(1) o= o1 P () e FeRe
@) o= 0 wﬂaﬁﬁﬂﬁ%ﬂﬁ

107, < TR o SE & - @
(1) Auekrana o (2) TEEREE R o
(3) G e - (4) o R e T

108. Wﬁﬁﬁmwﬁwﬁﬁﬁmwmqﬁ%?
(1) e Q) AT
- (3) R S | (4) G SR ___;1

11 26 Series-

_taambakdoklal o



100. Arrange the following in order :

(i) Promotion _ (iiy Performance Appraisal
- (iii) Recruitment (iv) Training
(1) (D, (v), (1), (i) T2y (), (), (), (V)
(3 (@), (i), (i), (iv) () (i), @v), (i), (i)
101. Which of the following step comes first in selection process ?
(1) Preliminary Interview (2) Medical Examination
(3) Interview . : (4) Induction

©102. Propounder of Innovation Theory of entrepreneur is

(1) Joseph Schumpeter ' (2) Howard Johnson

(3) Franklin Lindsay (4) Pareek and Nadkarni
103. Major problem of District Industries Centres is

(1) Lack of trained staff _ (2) Financial problem

(3) Lack of coordination (4) All of the above

104. Last step taken for the establishment of a business venture is :
(1) Arranging finance (2) Building venture structure
(3) Commencement ofthe venture  (4) Opportunity analysis

105. Péychoanalytical Model of Consumer behaviout is given by

(1) Sigmund Freud (2) Pavlov
(3) Thomas Hobbes (4) Goffman
106. Which of the following is included in steps' of Marketing Research 7
(1) Collection of Data (2) Pricing
(3) Advertising , : (4) None of the above
107. Example of External Advertisement is -
(1) Sandwichman Advertising (2) Newspaper Advertising
(3) Display Advertisement - (4) Direct Mail Advertisement
108. Which one of the following is not a type of Electronic media market ?
(1) Film Market : (2) [Internet market
(3) Newspaper Market (4) Music Market
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109.

110,

i11.

112.

i13.
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109. “Educationa] Psychology is that branc) of psychology which deals with ‘teaching and
i leaming’.” This definition has been given by
: (1) Crow and Crow (2)

Skinner
(3) James Drever (4)

Thorndike

110. Which of the following reasoning is used for adolescent to develop their ability to draw
logical conclusions in commerce subject ? '

(1)  Inductive reasoning _ (2) “Abstract reasoning
(3) Relational reasoning - (4)  Deductive reasoning

111. Psychology has changed the viewpoint towards child. Therefore school provides to

A A TR R DR T

children
(1) more information (2} . useful experience
- (3) more knowledge (4) more teachers

nes er the scope of educational psychology ?
{a) Learner (b) Leaming process

(¢)  Learning situation (d) Guidance and mental health
Select the answer from the codes given below :

(1) () & (b) 2) @& ()
3) (a) (b) & (¢) 4 (a), ), () &(d)

T a2

113. ‘Individual variation’ is the part of the following speci
function) in the teaching learning process :
(1)}  Diagnostic function
(3)  Evaluative function

fic function (indicate one specific

SIIREER

RS

(2)  Prescriptive function
~ (4) None of the above

114. Educational Psychology helps the teacher for

(1) Self knowledge and preparation  (2)  Character development of the child
(3)  Use of proper methods of teaching (4)  All above _ '

i R

Ys most important role in the social devel

opment of the learner ?
(1) Teacher (2) Games '
(3)  Education of parents (4)  Security
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116. The factor which brings change in behaviour, that is between permanent and temporary is
(1) Maturation (2) Training
(3)  Mental fatigue : (4) Iiness
117 Which of the followin g statement is not true with reference to adjustment ?
(1) Itsolves problems.
(2) M provides balance.
(3) Itisnota continuous process, :
4) Inthe absence of adjustment one is surrounded by tension, stry ggle and anxiety.
118. The factor which does not affect learning is
(1) Motivation - (2) Leaming Method
(3) Month of the year (4) ' Nature of subject matter
119. Learning of any individual takes place _ '
() lifelong (2)  upto aduithood _ _
(3)  upto adolescence (4)  during childhood only
120. “Learning is a process of development.” This statement was given by :
(1) Woodworth . (2) Gates
(3) Cronback : (4) Kuppu Swami
121. Which of the following is a factor that does not affect emotional development of the child ?
(1) Heredity (2) Health ' '
(3) Family (4) - School
122. Which of the fo] lowing is not g characteristic of adolescence ?
(1) Hollow friendship (2)  Feeling of revolt
(3} Change in interests 4)  Importance to group
123. Which of the following development of child is least affected by-school and teachers ?
(1) Physical development - (2) Mental development
(3) Social development (4) Emotional development
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124, Which of the following is autocratic style of ieaching Strategy 7
(1) Lesson demonstration (2)  Project
(3}  Group discussion 4 Discovery
125. Which is not secondary memory device 7
(1) CDROM - (2) Hard Disk
(3) ROM - (4)  Pen drive
126. Which of the following is not the characteristic of concrete operational stage of cognitive
development ? '
(1) Objectivity (2) Reasoning
(3) Classification (4) Concept formation
127. Which statement is correct with respect to develo pment ?
3 (I) Tt stops when maturity has been achieved.
(2)  Itis one of the parts of growth. '
§ (3) Itis continuous process.
' (4} Itis generall y refers to increase in size, height and weight.
a 128. Who is described as being a “radical behaviourist™ 9
: (1} Pavlov (2) Watson
% - (3) Bandura - (4) Skinner

129. Developing new behaviour and i
reward or punishment is known as
(1} Shaping of behaviour ~ (2) Operant conditioning
(3) Classical conditioning (4) Emotional conditioning

ncreasing the probability of a response- by introducing

130. Instructional objectives can also be called as
(1)  Specific objective {2) General objective
(3)  Learner objective (4) Critical pedagogy

131. Program learning is

(1) C_lassrbom learning (2) Auto learning
(3) Teacher-centered learning (4) None of the above
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132.

Tt o @ o w wEaTEier stfamy B uftom &0

() Vel suefar, (b) AR ST
(€) WIS By (dy Tafeaerer = =
TG T 1 TRNT Y IULHT W9 ol I ST :

Ha

(1) (a) W (b)

2} (), ()T (d)
3) (@), ()W (d)
(4)  (a), (b). T (©)

133. Trifeer & @ ferwdh g v o1 Rean Rrvoloot famiae fsar T o
(N I | C(2) Wi
(3) Tt @ R
134. afssliva sifarm & wwreere frator  Frsifea 3 Q feg Rrag s G & 0
(1) SRS % g fam (2) WHFR % W avTey fagra.
(3) diews = e fagra 4) w@r?ﬂﬁrm_
135. o s A AR e @ & 0
() e () hmEEE
(3) FraEme (4) BUEEE
136. ¥ 7 @ I T Cotihe wiveadw e & 2 |
(1) g famet (2) =< wfan gigedat
(3) AT | 4) wisdedmdw
137, Fr=ieias § @ S5 @ e darns ghe & whiad dieer @ aefar S o
(1) Ea R aTTd SR (2) Haml = AT
(3) S AT B ) (4) A = W
138. W.%Wﬁﬂqmm?ﬂﬁqﬁ%?
(1) Tewor e whET R (2) Temyor sEEReE wiafafr &
(3)  Temequr Wigvergof nfafafr & | (4) Towror meSaies it &
R % T
11 34 Series-A

Y T Yo e e n




T g 1Yot -y

SIS e e R - o

132. Which of the following is an ouicome of cooperative learning 2

(@)  Academijc achievement (b) Individualistic self-réliance
(¢) * Social skills (d)  Acceptance of diversity
Answer the question using following codes given below -

Codes :

(1) (a)and (b)

(2) (b, (¢) and (q)
(3) (a),(c)and (d
(4) | (a), (b) and (c)

- 133, Classroom interaction analysis wés_ developed by
(1) Bruner (2)  Flander
. (3)  Piaget - (4) - Skinner

:' 134. Which of the following ideas _have been contributed to the concept of programmed
1 _ learning ? S ' o _

(1) Thorndike law of effect - - (2) Skinner’s Operant conditioning

3) Learning theory of Watson (4)  Piaget’s theory

135, Select the smallest memory size,

(1) Terabyte @ Gigabyte
(3) Kilobyte N ) Megabyte
136. Which of the following is not the application sofiware 2 :
(1} MS Windows (2) Word Processing Soﬂware_
- (3)  Web Browsers (4)  Spreadsheet Software

137. Which of the following is not the ability related to the ability model of emotional
intelligence ? : o _
(1) Self concept of emotions (2) Perceiving emotions
(3)  Using emotions @) Understanding emotions

138. Which one statement is not correct ‘with Tespect to teaching ?
(1) Teachin g is interactive process.  (2) Teaching is professional activi ty.
(3)  Teaching is purposeful activity. (4} Teachin gis psych_ologicall activity.
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148.

149.

1560.

3R & TR ¥ | Hie ht Gien! A 59 saeer W wiafe g
() = Dr. 3.000
To{H 3,000 .

(2) W Dr. 3,000 -

To &l 3,000
(3) W&  Dr. 3,000

To &4 3,000
4 w Dr. 3,000
ToWeT 3,000

H@ﬁyﬁ@%mﬁﬁmﬁ@ﬁqmwmﬁﬁm%?

(1) WERRIH avel & s § S s@m o .

(2) WEERI @l &, Wmmmﬁméﬁqﬁml o

() wERiw M wasdkaadn, S
(4) R ¥ 3O W A TG T oy SR

X 3fRY 2 : 3 Fems-fagee erur § aetee € 1&u@mﬁﬁzﬁmaﬁﬁq¢mﬁﬁﬁ% e

o T =7 1/4 907 WSy wem |a'arxz?r4f20umamYﬁ 1/20 9 Wi el & |m§m’ta;r

o - e e
(I 4:11:5 | 6:9:5
(3) 8:7:5 (4) 11:4:5

X, YSZ 5 :3 : 2% o o ofnT siedt g ERR § | X S WeoT HE 9 ¥ a
mﬁw?looooowwﬁmm%lmmﬁmﬂwwmmﬂmw%|
X & TR T W &1 % fore sier ufafte g '
(1) X’s Capital a/c. Dr. 50 ,000

To Y’s Capital a/c 20,000
To Z’s Capital a/c 30,000
(2) Y’s Capital a/c. Dr. 20,000
Z’s Capital a/c Dr. - . 30,000
To X’s Capital a/c ' 50,000
(3 X’s Capital a/c. Dr. 1,00,000 o
' To Y’s Capital a/c 40,000
To Z’s Capital a/c ’ 60,000
(4) Y’s Capital a/c. Dr. ' 40,000
Z’s Capital a/c Dr. 60,000
To X’s Capital a/c . 1,00,000
T6 & g =mr
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(2) Ram Dr. 3,000

ToHari 3,000
(3) Mohan Dr 3,000

To Hari 3,000

.—.»r..‘q"t:é- 3
s i TR
-

et

1% . (4) Hari Dr. 3,000 : _ -
W To Mohan 3,000 o | -
{q 148. In the absence of partnership aeed,_ which of the provision given below do not apply ?

(1)  Profit and loss wil] be shared in capital ratio among the partners. -

(2).  Salary, commission and other Temunerations will not be payable to the partners.

# (3) No interest on capital will be given to partners, :

fu (4)  No interest on drawings will be charged from the partners.

%‘: 149. X and Y are partners sharing profits in the ratio of 2:3. They agree to admit *Z° into
oo partnership, who will get !4 share in profits. He acquires this share as 4/20" from X and
o 120" from Y. New profit sharing ratio of partners wil] be:

5 (1) 4:11:5 2 6:9:5

3) 8:7:5 4y 11:4:5

f 150. X, Y and Z are partners sharing profits in the ratio 0f 5:3:2. X wants to retire and goodwill -
h ' “is- valued at ¥ 1,00,000. New profit sharing ratio of continuing partners will be equal.
0 Joumnal entry for goodwill on retirement of X will be: -

(1) X’s Capital a/c. Dr. 50,000

To Y’s Capital a/c 20,000
i - To Z’s Capital a/c ' 30,000
- (2)  Y’s Capital a/c. Dr. 20,000
§ Z’s Capital a/c Dr. 30,000
i To X’s Capital a/lc =~ 50,000
; (3}  X’s Capital a/c. Dr. 1,00,000 '
il . To Y’s Capital a/c 40,000
To Z’s Capital a/c 60,000
; (4)  Y’s Capital a/c. Dr. 40,000
‘ . Z’s Capital a/c Dr. 60,000
§ To X’s Capital a/c 1,00,000
£
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